e Question No.1

Who has been appointed CEO of Twitter recently?

Options:

1. Satya Nadella
2. Parag Agrawal
3. Vineet Agrawal
4. Jack Dorsey

5.

Answer : Parag Agrawal

e Question No. 2

When is Constitution Day celebrated?

Options:

1. 24 November
2.25 November
3.26 November
4.28 November

5.

Answer : 26 November

e Question No. 3

In which state is Kathak dance performed?

Options:

1. Kerala

2. Tamil Nadu
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3. Uttar Pradesh
4, Bihar

5.

Answer : Uttar Pradesh

e Question No. 4
If a side of a cube is 6 cm, then find its volume.
Options:

1.212

2.216
3.108
4.256

5.

Answer : 216

e Question No. 5
12% of 3600 - 10% of 120
Options:

1.400
2.432
3.440
4.420

5.

Answer: 420

e Question No. 6

If Bis coded =4, D is coded = 8, and E is coded =10, then what will be the code for J?
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Options:

112
2.10
3.11

4.4

5.

Answer : 10

e Question No.7

In a triangle ABC, the angle A = 50° and angle B = 60°. What is the third angle?
Options:

1. 60 degrees

2.70 degrees

3. 80 degrees

4. None of these

5.

Answer : 70 degrees

e Question No. 8

If tan A = 3/4, then find the value of sin A.

Options:

1.3/5
2.4/5
3.2/5
4.1

5.

Answer : 3/5
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e Question No.9

If BOY is coded DQA, then how will CAT be coded?

Options:

1. ECV
2.EDU
3.FBS
4. ECT

5.

Answer : ECV

e Question No.10

Find the next number in the series: 8, 16, 32, 64?

Options:

1.112

2.128
3.144
4.160

5.

Answer : 112

e Question No. 1

A is the brother of B, B is the sister of D, and F is the father of A. How is B related to F?

Options:

1. Mother
2. Father

3. Brother
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4. Daughter

5.

Answer : Daughter

e Question No. 12

Find the average of 7, 14, 21, 28.

Options:

1.35
2.70
3.175
4.18.5

5.

Answer : 35

e Question No. 13

40% of 80 x. Find the value of 20% of x.

Options:

1. 0.2x
2.0.4x
3. 0.6x
4. 8x

5.

Answer : 0.2x

e Question No. 14

If the radius of a cylinder is 14 cm and its height is 8 cm, then find its curved surface area.
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Options:

1.704
2.1100
3.880
4.1504

5.

Answer : 704

e Question No. 15

Chief Minister of Madhya Pradesh

Options:

1. YS Jagan Mohan Reddy
2. Himanta Biswa Sarma
3. Nitish Kumar

4. Shivraj Singh Chouhan

5.

Answer : Shivraj Singh Chouhan

e Question No. 16

Largest River of India

Options:

1. Ganga

2. Yamuna

3. Kaveri

4. Brahmaputra

5.

Answer : Ganga



e Question No. 17

Chief Minister of Assam

Options:

1. Pushkar Singh Dhami
2. Himanta Biswa Sarma
3. Nitish Kumar

4. Shivraj Singh Chouhan

5.

Answer : Himanta Biswa Sarma

e Question No.18

Longest River of the World

Options:

1. Nile

2. Amazon

3. Yellow River

4. Rio De La Plata

5.

Answer : Nile

e Question No.19

What is the currency of Bangladesh?

Options:

1. Rupee
2. Dollar

3. Denar
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4, Taka

Answer : Taka

e Question No. 20
Where is the headquarters of DRDO?
Options:

1. Bengaluru

2. Hyderabad
3. New Delhi
4. Mumbai

5.

Answer : New Delhi

e Question No. 21
Where is Amar Jyoti, which has been in discussion recently?
Options:

1. Gujarat

2. Goa

3. Bihar

4. New Delhi

5.

Answer : New Delhi

e Question No. 22

Pin Valley National Park is situated in which state?
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Options:

1. Uttarakhand

2. Uttar Pradesh

3. Himachal Pradesh
4. Gujarat

5.

Answer : Himachal Pradesh

e Question No. 23

Which state is not a part of the ‘Seven Sisters’ of North East?

Options:

1. Meghalaya

2. Sikkim

3. Arunachal Pradesh
4. Tripura

5.

Answer : Sikkim

e Question No. 24

President Of Russia

Options:

1. Xi Jinping

2. Joko Widodo
3. Arif Alvi

4. Vladimir Putin

5.

Answer : Vladimir Putin
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e Question No. 25
A train running at a speed of 108 km/h crosses a pole in 32 seconds. What is the length of the train?
Options:

1.960

2.1024
3.1200
4.1240

5.

Answer : 960

e Question No. 26
In the following question, select the missing number from the given alternatives.
45,15, 60, 75,135, ?
Options:

1.208
2.200
3.222
4.210

5.

Answer : 210

e Question No. 27

In a school, there is a ratio of 4 : 3 between boys and girls. If the number of girls is increased by 10%, their number is

363. What is the total number of students in the school now?

Options:



1.770
2.753
3.803

4.880

Answer : 770

e Question No. 28
. 2 2
Find the value of 151" - 149",
Options:

1. 600
2.500
3.560
4. 400

5.

Answer : 600

e Question No. 29
Select the best alternative.
Darwin : Evolution :: Archimedes : ?
Options:

1. Friction

2. Lubrication
3. Buoyancy
4. Liquids

5.

Answer : Buoyancy
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e Question No. 30
Virology : Virus :: Semantics : ?
Options:

1. Amoeba
2. Language
3. Nature

4. Society

5.

Answer : Language

e Question No. 31

A sum of money at simple interest amounts to Rs. 1285 in 4 years and to Rs. 1330 in 5 years. The sum is?
Options:

1.1105
2.1108
3.110
4.109

5.

Answer : 1105

e Question No. 32

A, B, and C can do a piece of work in 6 days. If A alone can do this work in 36 days and B alone can do it in 12 days,

then in how many days will C alone complete the work?
Options:

1.12 days

2.18 days



3.36 days
4.16 days

5.

Answer : 18 days

e Question No. 33

In the following question, a pair of words as alternatives. Find the correct pair.

Apostate : Religion

Options:

1. Teacher : Education
2. Traitor : Country

3. Potentate : Kingdom
4. Jailer : Law

5.

Answer : Teacher : Education

e Question No. 34

Choose the group of letters which is different from others.

Options:

1. DXCLQ
2. PFZUM
3. GKNT

4. NMWBH

5.

Answer : DXCLQ

e Question No. 35
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Select the related words from the given alternatives:

Kidney : Nephron :: Central Nervous System : ?
Options:

1. Cerebrum
2.Brain

3. Neurons

4. Spinal cord

5.

Answer : Neurons

e Question No. 36
What is 34% of 1.2 kilometres?
Options:

1.40,800 cm
2.4,08,000 cm
3.4080 cm
4.408 cm

5.

Answer : 40,800 cm

e Question No. 37

320 is how much percentage less than 400?
Options:

1.20%
2.18%

3.12%
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4.15%

Answer : 20%

e Question No. 38

A tank can be filled by pipe A in 5 hours and emptied by pipe B in 8 hours respectively. How much time will it take

for the tank to be filled?
Options:

1.13(1/3)0
2.823 [0
3.1213 0
462310

5.

Answer :13(1/3)0

e Question No. 39
Find the next number in the given series:
13, 40,122,369, __?

Options:

1.110
2.1
3.1M2
4.1M3

5.

Answer : 111

e Question No. 40



Select the odd number from the given alternatives:

Options:

1. 51

2.66
3.83
4.93

5.

Answer : 93

Question No. 41

Find the correct answer:

Mother : Child :: Cloud : ?

Options:

1. Weather
2. Rain

3. Thunder
4. Water

5.

Answer : Rain

Question No. 42
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The average marks of Madhu in four subjects are 64, and she got 69 marks in the fifth subject. What is the new

average of marks obtained by Madhu in 5 subjects?

Options:

1. 66

2.67
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Answer : 65

e Question No. 43

Find the correct Venn diagram:

Male, father, engineer

=
A ( -
g
T
B.q \_)
. -

!

D.
Options:
1A
2.B
3.C
4.D
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Answer : C

e Question No. 44

Pointing towards a girl, Chetan said, “she is the daughter of the only child of my grandmother.” How is Chetan

related to that girl?
Options:

1. Father
2.50n

3. Brother
4. Husband

5.

Answer : Brother

e Question No. 45
Find the correct relation in the given question.
18:52:12:7
Options:

1.34
2.48
3.60
4.72

5.

Answer : 34

e Question No. 46

If WORK is coded 21-13-17-9, then how will it be coded LION?
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Options:

1.12-2-13-13
2.10-7-13-12
3.10-7-12-13
4.1-8-15-14

5.

Answer : 12-2-13-13

e Question No. 47
If Q means ‘add to’, J means ‘multiply by’, T means ‘subtract from’, and K means ‘divide by’, then30K2Q3J6T5 =?
Options:

1.22

2.28
3.47
4.48

5.

Answer : 22

e Question No. 48
If B=4, C=6, E =10, then find how J will be written?
Options:

1.18
2.19
3.20

4.22

Answer : 20
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e Question No. 49

A bus covers a distance of 10 km in 12 minutes. If its speed is reduced by 25 km/h, then what time (in minutes) will it

take to cover the same distance?
Options:

1.36
2.13
3.24

4.15

Answer : 24

e Question No. 50

A train crosses two platforms of length 1000 m and 600 m in 80 seconds and 60 seconds, respectively. What is the

length of the train?
Options:

1.720 m
2.600m
3.540 m
4.400m

5.

Answer: 600 m

e Question No. 51
Find the relation between given words.
Pen : Nib :: Book: ?

Options:



1. Novel
2. Glass
3. Cover
4. Page

5.

Answer : Page

e Question No. 52

What is the average of the first 30 natural numbers?

Options:

1.20.5
2.155
3.7.75
4. None of these

5.

Answer : 15.5

e Question No. 53

1050 + 25 x51-1942 ="

Options:

1.152

2.200
3.252
4.300

5.

Answer : 200
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e Question No. 54
K and L are brothers. M and N are sisters. K’s son is N's brother. How is L related to M?
Options:

1. Father

2. Brother

3. Grandfather
4. Uncle

5.

Answer : Father

e Question No. 55
Choose the correct answer:
7845 - ? = 8461-3569
Options:

1.2953
2.2773
3.3569
4.2352

5.

Answer : 2953

e Question No. 56

A blanket is sold for Rs 680 at the discount of 15% and 20%. Find the printed price of the blanket?
Options:

1.800
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2.950
3.900

4.1000

Answer : 1000

e Question No. 57

The difference between the cost price and selling price of a bat is Rs 180. If there is a profit of 20%, then what is the

selling price of the bat?
Options:

1. RS 1080
2.RS 1240
3.RS 1040
4.RS 1200

5.

Answer : RS 1080

e Question No. 58
Find the H.CF of given numbers:
9, 27, 63,189
Options:

1.6
2.3
3.7
4.9

5.

Answer: 9
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e Question No. 59

The length of the diagonal of a rectangle is 26 cm, and one side is 10 cm. The area of the rectangle is:

Options:

1.240
2.2604/2
3.65\/2
4.1301/2

5.

Answer : 240

e Question No. 60

The least perfect square number which is divisible by 9, 12, 15, 24:
Options:

1.900

2.1600
3.3600
4. 6400

5.

Answer : 3600

e Question No. 61
Find the value of 37.5% of 800 - 16 .23% of 1200.
Options:

1.105.24
2.120

3.100
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4.200

Answer :105.24

e Question No. 62
In how many years will a sum of Rs 320 amount to Rs 405 if interest is compounded 12.5% yearly?
Options:

1.2 years
2.3 years
3.25 years
4.1year

5.

Answer : 2 years

e Question No. 63
Using all the letters of the word ‘Sunday’, how many different words can be formed?
Options:

1. 6!
2.5!
37!
4.8!

5.

Answer : 6!

e Question No. 64

The second stage of a child’s understanding of language is
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Options:

1. speaking
2. writing
3. listening
4. reading

5.

Answer : speaking

e Question No. 65

........ale basically the reason for developing fear in the child’s mind.

Options:

1. Parents
2. Overcautious mothers
3. Fathers
4. Uncles

5.

Answer : Parents

e Question No. 66

________ are made from vegetable, animal products, and the oils of certain flowers.

Options:

1. Perfumes

2. Cosmetics

3. Cooking medium
4. Soaps

5.

Answer : Perfumes
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e Question No. 67

Window is to pane as a book is to

Options:

1. Novel
2. Glass
3. Cover
4. Page

5.

Answer : Novel

e Question No. 68

Cup is to coffee as a bowl is to

Options:

1. Dish

2. Soup
3.Spoon
4. Food

5.

Answer : Dish

e Question No. 69

Yard is to inch as a quart is to

Options:

1. Gallon
2. Ounce

3. Milk
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4. Liquid

5.

Answer : Gallon

e Question No.70

Onomatopoeia

Options:

1. yelling, shouting, clapping
2. whisper, speech, speak

3. look, buzz, ring

4. bang, wobble, dance

5.

Answer : yelling, shouting, clapping

e Question No. 71

Her cheeks are big red apples

Options:

1. Personification
2. Metaphor

3. Oxymoron

4. Hyperbole

5.

Answer : Personification

e Question No. 72

The leaves danced in the wind.
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Options:

1. Apostrophe

2. Alliteration

3. Personification
4. Metaphor

5.

Answer : Apostrophe

e Question No. 73

Life is like a box of chocolate. You never know what you're going to get.
Options:

1. Simile

2. Metaphor

3. Personification
4. ldiom

5.

Answer : Simile

e Question No.74

Fluency in such patients can be incorporated into the speech of such patients through
Options:

1. Hypnosis
2.slap

3. Punishment
4. Symbiosis

5.

Answer : Hypnosis
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e Question No. 75
By the time the child becomes two years old, he/she can
Options:

1. speak complex sentences

2. only understand spoken language

3. understand and speak simple language
4. write the alphabets

5.

Answer : speak complex sentences
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